I ¥ R &# 0o K R A =

R L
1 R F &K
(I —1—1%) x Z B B o # B
A B C SHEFE (| D E itk # %
BT TR | W) SAEH b T
R B | AN A o YEP F S Lkl g
SR | AR || gy | Mg | S |SESURIT | A R
A S | MRS A () | EE | FEE | e
FEPRS | e | ) A (b)
5 A A A A A A N N A A A
Rk
3143 H 20,573 20,391 19,831 9 0 2 2 5 13 4 0
A
2473 H 19,756 19,584 18,972 15 2 1 1 1 11 0 0
33 H 19,041 18,889 18,224 29 2 0 1 2 7 0 1
443 H 19,556 19,390 18,625 23 1 2 0 3 8 2 2
543 H 19,751 19,600 18,683 22 0 6 0 6 7 0 1
643A 19,362 19,165 18,148 31 0 1 2 10 12 1 5
B 9,888 9,764 9,356 23 0 0 2 7 9 1 5
'S 9,474 9,401 8,792 8 0 1 0 3 3 0 0

KU (1) ~ (3) DL - SRR I, AR LD T TH D,

(WZE % H ¥ (I —1—1F-HaFHEFE63E)
A ZEFEFFIT19,362 AT, 389 A (2.0%) AL T2,
REHERNC DL, EIL158 A (LA . A318,776 A (377 A . FAZ428 A (11 AJF) 722> T5,
BN HDHE, B19,888 N (HEALELS1.1%) . 229,474 A ([F48.9%) L7p>TW5,

o ERBIOWRIL, BEEREEFE 19,165 N (TR E99.0%) | &K (H5EiE) #53E 31 A ([F0.2%) |
HUEFAL (—IRFRAR) S N TN, NSRS RE DB i i 2 A F 5 2 N ([F10.0%) . Bhik & 45E28 A ([F10.1%) |
FEFRLIAA O E135 N ([F10.7%) 7> TN,

Q)EFEH-EFE (I —1—1F-HaEFH63#E)
A B H0319,165 N T, 435 ABA LTS,
BB RN HDE, ESL158 A (1 AHY) . /A3718,580 A (425 NJH) . FASE427 A (11 AJ) 722> TWN5,
BRBNZHDE, B19,764 N (HELIE50.9%) . 279,401 A ([F149.1%) £7p>TB,

O SRR ONRIL. B A HIRERR17,224 N (A% H89.9%) . [RIEMRHHIFRFE373 A ([F11.9%) |
RS HIERREE 1,017 A ([A]5.8%) . im 81221266 A ([F11.4%) | Rl B2 S5 8k (R AL 285 A ([F11.5%)
LlpoTWNA,

N AR ER1399.0% T, 0.27R A N FEloTWA, £, 2EEH (98.6%) #0.4R8 Ak EESTW5,
BERNZHDE, FT98.7%TO.5RA b, 20199.2% TO.1ARA R FEI>TWD,
BEHFRREE RO 21T 93.7% L7 > TS,



F G (5 #8) H
e . FEFEAL Ea R | mhik
DL | Tt g b | o | PR
) 5%%&; S| e s
W5 S O

sno#E # (c) @ (a. b, c. d)
IN N IN IN X
146 1 3 3 24
141 0 12 0 24
110 0 9 0 18
125 0 10 1 22
108 1 3 0 16
135 0 7 1 30
77 0 7 1 24
58 0 0 0 6

B)BERH -FXEICHHIEEG
(I —1—15%-#FHFFE63%K)

A B RBEIIASLDO30 AT, 14 AL TV D,
CHDE FT24N, LTF6NERSTND,

55 2]

0 ZRFEFITED LI E OFIE130.2% T,
0.1RAV b E[ES>TD, F72, 2ETFH(0.2%)
ERIENT 2> TND,

BN HDBE, B10.2%, Z10.1%T
0.1/RAVF EE -T2,

(N)

22,000

21,500

21,000

20,500

20,000

19,500

19,000

18,500

18,000

(%)
100.0

99.5

97.0

(I-1-1E]) FXEHOHEB
Z0ith

[ s @S8R —
B ssensgys

H27.3

(I-1-2E) EFEDHR

— —~ PN 99.0
’—‘— ---------- ~~~~ 98 7
-~
ad S 98.6
—S—EHR(5)
—o— EHR(X)
— EHR
—_———tF
H27.3 30.3 R3.3 6.3



